[C]
o Sl (V) _ <)
ol 7! i ST daa KX o= 7
IE"" pction ! Answer the fﬁﬂnwﬁ E - A :z ﬂmﬁ /,ljﬁ
' —= 2-

al. .,J:[H 204 .2‘0
45 .L\L 91, The value of
(1] 2 N JZU+JZUTJ20+...........E is
3] 3
BI3 [1] 2 (2] 4
o, @ R B _MTs (4] 10

2. The ratio of

incomes of two persons
15) 119

7 and the ratio of their
~ expenditures is 4 : 3 f each of them
- 'i}? HRECS Lo save Rs. 2,000 per month,
~ theno '

- - ONE person monthly income is :

121 16,000

pm _[ﬂul.a-zii;ﬂﬂﬂl

Scannex d with CamScanner



[24]

ar 93, [ x+v=q+h ax—br=ua & ,"r'I‘

Fr by Er oA B the value of 'x' and 'y 15

J | | ¥ a1 h | M Y . _| ,’-I f‘l .‘I'} =

| I'" ) = g e &
[2] x -, ) h |_'| X ¥ h J"k,'
|} n et 11 b | -,}“li:j y iu'._" h J _|-; = f
| | e b i
f ' 5

l| 1 &l ] £ |Jr b il |

94. 135° i zmm # == Fifa | 94, [Express 135%in radians :

: 2m i I T b ot Ay
F= 2 ] — 17

1 2 2] % 1] 2 A7 2

= P 3In 21 s

[B].— L= [3] — 4] —

5 5 5

95. U% g9 & By 13 o9 2 & us% 95, The radius ol a eircle is 13-cm an)
Slar H HE ';_ﬂ 12 a4t nj, Star &t chord's distance from  cenler
S G HiET 12 em. then the length of the chord

cqual to':

[1] 15 #F] [2] 12 #r [1] 15 em [2] 12 em

[3] 10 T [4] 20 &t ‘ (37710 em

[4] 20 cm

% Fd % RT 978 (SPACE FOR ROUGH WORK)
_,-"'_\'

W; |/k"/ f2

Sfo =
= e ki oY = Ath

e

4,
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(25]

Ww@m}é’lﬁﬁﬁm 9

96. Arrange the ol
ollow
- ascending order Mg fractions in
4489 4765
TG 87
4765 iy 4765%
M 537% 5787
5674 5674 n :
2) Si=e=y= e Isste i rad PR
2l 7875 “6.73-"5_ my +
L5 6 7 45""‘|‘|'.|-||
3y 2 2 267
9 5o P 557%
7654 o band, i
4y 22 2N 4) 4,837
¥R ek 87l6i5
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[26]

[C]
. sl nl A for e
IFind the value ¢ I_ i m.l which (2,

: ) o TEUE
g8, =F 20040 —x—b F TrEE | 38

= = o1 1,.&_’.1' .1|-‘-|F|1
o R i e :

is a factor of 2x

(1] 25 M2 15
[4] 51

[2] 15
[3] 20 [4] 51

['he diagonal ol a rectangle js g

89, TF aaT Ty EEvt & A B aur S 99, _
o WO g gt % 49 @ @ 30° | I'he angle between side and L[iilg[;
2 A aEe F e B | of a rectangle is 30% then the are
rectangle 1s :
[1] 16 &1 2] 163 FHT [1] 16 em’ A2] 1643 em?
11 .-_.._"__l__.‘-_-[l =il G i EetD | = = 2 ) 16 <
13] &3 & 4] —= & | 3] 8V3 cm®  [4] —= cm]
v 3 V3
100. @ sinp=-2 & @ S | i T e
g s > & B UH R A E @ | 100, If su".-_ﬂ:;—1. 0 is in first quadrant. th
cos 8 1 AF & : | cos O is equal to ;
[1] _f—_”‘= [2] —_.h= 1] a 2] A
Vbt —a? 52— o2 = 2 —
: N Vb —a” Vb: — 42
B g Y= | b o
! 3] = ; b s0
o el b | = L

i E ?

~248 6 4
e

(&

A

e
>
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9 2
2 p"+2"—54)
oty — -2
m% tx'l,'—-_l.FE-—EI]

o ‘,l,._-_3:.-;,’q°fz*'=ﬁfqﬁ%:

1) 2 121

l&mﬁf@ﬁfﬁﬁﬁ%gﬁm
o FOAE F OB, AR st @
mlst?

12 (141618 {20 | 22| 24
_l'z 6 |19(13lals|a| |
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103:

4

4
10000

100

4
1000

10

[1] 0.30644  [2] 0.3244

(3] 1.03644

seel # g B 9EH 24 G & A
Sl ELARECD Plﬁ"ﬁ a,,=3+2'n
8/ far o

(4] 0.3644

[1] 680 2] 670

3] 672 [4] 675

0.235550 TR0 T - i
[1}. B N

9

[28]

103. The value ol — |0 1600'_-5?

is :

[2] 0.3244

104. Find the sum of first 24‘ w

list of numbers wh@s f '

(1] 0.30644
(3] 1.03644

dy=3+2n :
[1] 680

18] 672

105. Exmess 0. 2359&

[2]" [; "]
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PR R I L T (c)
106. Which of

the following i i

0.9, 0.9, 0.09, 059

2 g | 0.9, 0.9, 0,09, 009
) 1] 0.9 9
3] 0.09 14] 0.00 | Mo-q
(3] 0.09 09
08 90 & Hem wly T % e
. 0 HYro
AR e 107, Sum of all the prime numbers
between 50 1o 90 is -
1] 485 2] 572 N
| 485 12] 57
| ! 2
13] 722 14] 635 3]
. 722 ' '
108. a b, ¢ H ahEg 'm R S 1es el

(ab + be + cq) = g 108. [f the average of g, p

’ a" a’ +ph2 +.t.‘2

i5_'m' an
W@Hﬁ“{ﬁ%: (?b+bc+ca)=0'lhen e

the average
value of o2 o2 2 o M
[ m 2) 3. | | gl e
2 | (1] m* 5
SRLANE o L
ACETOR RovoHwomg
- AT SIf e T+ I37 85

A IS N
;ﬁﬁ%@;{;&&a == (B~

nydd aanbn

| %:wqxﬂ ¥ oo W

RT O
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081x.484
V.0064 x 6.25

(1] 9

F P B

s 114

2] 0.9

11
o

—

03] géﬁﬂ 1o meu ém AN ]

alt o 0 "r.m e dal

W?M‘ﬁr 9N

= [ W e

[30]

109. The solution of following sygg
linear equation isits 9 0

ﬁx+\[—-y=0
Jix—\r.-}’=ﬂ [

[1] 9
3199 -
. H \ -
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[32]

. | (&7 &
us. @& (137" & 0 F 3F T Wﬁat is the unit place
B | |' (2137)153 9
0 23 1
Bl7. =7 a2 :

P‘?‘*‘Q’r-l-_pr,
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af AMABC H T 32A <
IFT. n..c E‘TJ E.ﬁ ZA W% :

[2] 80°

[4] 40°

5:16 % U ¥ 8, & vy
g e WS F ST ¥

(] 5:11 2] 5:8

(3] 574 [4] 5:3

20 7 5 T W F 4 9 wwE
G'Wwif%@aﬁm

ﬁzﬁmm%lw%maﬁaﬁw
iR & ? , ‘|

L7 21 ¥, |

120.

2398

TR

(1] 5:11
L [Sj*fs e -ﬁs' :

A lot OPZ%hu' s'contan
pieﬂms_@: Og'ne.h
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121,

a2

ol
o)

3 FHAE dggEl B geNel W oHE
F U 1 : 2 T IEH F: BN
FAY2:3F YA A g,
TS A ST B §

(1] 4,8
2] 5,10
3] 6, 12
[4] 8. 16

T et 1 sR “AeEd o
T o e X % o 7

[1] S&=s= - 11
2] s
[3] =t

[34]

121. The ratio of sides of two m

e

polygons is 1 : 2 and the raﬁt..
their interior angles is 2 : 3, Th

sides of regular polygons are :
14.8 i

[2] 5, 10 p
(3] 6,12 =
14] 8, 16

122. Which mathematician ot

"Lilavati", a book on mathematica
principles ? | '

¥
[1] Bhaskaracharya-11
1) vl i _H_ “

[2] Aryabhatta
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n :i :;n'] L v] _}G:“—T E LT 4 Q %
14 ~ 5 S - 5 . mz -”1'..‘ ratio 3 {C]
:_[F:'T[’_‘. 1 B J=I<h ERTUEH; o @WFT | ) of Surface ata
- 4 s Ul SI‘I}];:rQS is 4 9 v dargg of twi
. * 2 the rage o
& volimes {s : falio of there
(L 24 (1] 233
2] 49 [2] 4:9
3] 8:27 /sz/x;z?
(4] 64 : 729 [4] 64 : 729
124. U‘?h Efi"a ﬁaﬁ UBTT’EITT %T‘ F}J":“ 12 %‘;ﬁ 124, The hL‘ighl of a cone is.16 cm and
I J*‘fﬁ‘ﬁ ‘:niﬂé 16 gH %, a1 3I9F | its base radius is 12 ¢m. then what is
ah _{ S SR T il g@“m a—ﬂﬁﬁ . the curved surface area and the total
7 BT ¢ (= 3.14) surface area of cone ? (m=23.14)
1] 753.6 ¥ & 1205.76 Y Msa.a em? and 1205,76 cm’
. 0y 2 o 2 I . 9 = 3
2] 1205.76 T 3R 753.6 T [2] 1205.76 cm® and 753.6 cm’
K 3 A 3 N 1, - ~
(3] 753.6 ¥ iR 1210.76 ,[}\733.6 cm? and 1210.76 cm’
|
[4] 452.16 ¥ & 753.6 A’ | [4] 452.16 cm’ dnd 753.6 cm’
= T F4 & R FE (SPACE FOR ROUGH WORK) 9 1 AZKIE
Bidhx a2
= g4 714
=7 24 b |
[ rtl; [2 ) If
S O st —
62— TS = —
-
P.T.0
Level-2/810
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cl _ ]
: Hﬁqgﬁfﬁrmaﬁemaﬁ$1£Wr€Fn
125.
i (n—2)x180° 2] ﬁxl'soo
(n— 2)% 180° [4] "(ﬂ 3]
3] ~=—— '
. a + &6 T o = 0. %. a
J_Z_ﬁ.z az bz cz ﬁr % h\ 1
[i;*:;*a—g T
[2] 1

< P
sortbeypend gft
. _'m'l;ug b’iﬂmw -

311
413

[36]

The interior angle of a re

P.ﬁlygon'-is :
—x1 805

% (n—2)x180° |2] ’2’

ﬂ(n—Z)wa“ [4] -

: ; .

1 ‘3 |*|_ )

126. Ifa'+ b+ ¢ =0, then the val
28 A,
[,‘7: cﬂ‘ gfb’] -
[”U 34ﬁ+&

___-—-—-'-T"

-H ﬁﬂ]a"ﬁ:ﬁ gt "” —

125.

——————
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[38)

(€]
31. I ’::;'3'7' 400, ' A & 181, X __ =400, then the value of 'y
D +/1.90 /.96
Vi
IS
532.4 [2] 560 5
Ees [1] 532.4 560
[3] 440 [4] 480 _
3] 440 [4] 480

132, W9 FACE STHE §H Heney o :
Gt T 132. The sum of three consecutive cvep
g Gﬁ % aﬂ'ﬁa -& 28

T ¥ T denet ¥ 3 TR positive numbers is 28 more than the
&1 F AN 26 average of three numbers, the smalles
number is equal to :
[1]'6 2] 12
[1] 6 2112
[3] 14 [4] 16

[3] 14 [4] 16

133. 10% 9% &3 § 3 of
RT3 ‘E{]Tﬂ ﬁﬂl’m Bzl 133. The difference between compound
= ] ?20 =R ;’ﬂl{‘“ interest and simple interest is Rs. 620
3 ﬂgmt S 1y o for 3 years at 10% per vear. then
I I.[II T e %) hA) 18 what would be principal amount 2
[1] 40,000 2] 12.000 [1] 40,000 2] 1 |
s 2.000

B110.000 (4] 20,000
100041 20000 o

%ﬁq:ﬂmsmcn FOR ROUGH WORK)
11—. ) ? I
i |'. d

[-21)
32 )y Dpon
AR — 626 oo
— s
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[
(o]
=

;

(14-6V5) Fr Fefyey %
[1] + @3 +4+/5) 2] +@3-45)
Bl +(3-3) {41 1343

ﬁﬁm%ﬁ%ﬁﬁm'dﬁtﬁ%’

[1] 2a &
) 3 v
Bl &/ ¥y

(40

136. Square root of (14 b\F} 1S
Ry +@3+V5) N 6=

137, The length of diagonal of a Square ;

138,

'a' em, the area of square is :

[1] 2a em®

(2] ;ﬂﬁ-unz

' c13 2
A cin

2 ;
(41 @/ em’

"All science education Which dg,
not ?ommcnce with Mathematic :
nvariably defective l.
This Statement was
[1] Roger Bacon
[2] Hoghben

[3] Herbery

at its foundation
Stated by whop, -
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[42]

Hi.:::rluwlit' test lor Hlll{i;lrim\_:..

s - = = Sy T-‘ i—"rrTU !.411 -
141, SO A gowd g @ > . ani I wWas deve
= l ‘ |‘JJ'L!L‘L'“ 1n ‘””}“”L . : liut]“ﬁ.‘]

CEE e ALkl fpEd @l BB
fepar T o1 !

i |w'\ :

[1] Sfte @He &= &M (1] G. M. Ruch
fle UHo &Y &

flo @ qae T eI A &l )| G ell and Lenore Juk
[2] Sifo €0 FHAT Td T S B | [2] /Gl Buswell ar enore Jopy,
(3] LeoJ. Bruckner

(3] e So gFX &1
| (4] Fred J. S. Schonell and F. Elegy,

(4] % o THo WhME AT Who UL
E & | Schonell

The area of trapezium shape tap|;

—

142, UF T909 N & A & A% 142.
0.88 #1" & 4T SHSH T bl %l | lop is 0.88 m° and. its ane parally|
TEE LA S TN el 3 side is | m and the distance betwegy

S 3ol 08 #@ oy oA T parallel side is 0.8 m. then

AR G50 & ‘ another parallel side is :
[1] 1.2 4t | /m/mm
[2] 0.1 #t [2] 0.1 m
[3] 2.1 3 3121 m
[4] 2.5 = (4] 2.5 m
T #1 % U 57T (SPACE FOR RoUGH: WorRg)

— 1

by = ? J
.#"( [42x) x o8 = 9——-—5;’— A

evel-2/810
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1. T W A g e | -
Tﬁ%m B Ay | PO OF principal amoyn anc
Pl & 7 simple interest of one yearis 25 : |
(1] 4% then rate of interest is
2] 25% HT 4
Blsw 121 25%
4] 20% E'; 5%
| [4] 20%

o ich  statement is true  abo
discriminant of quadratic - equati
a -s+.6x+c-0 2

1] T;“tlr distinet real roots,
b dae>). o

*E'E'IW equal real  roots,
b —dacs0 )

gl No THIIE}MS, ifh’ - —dac<(

P.
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[C) [44]
|
|

‘A’ can do a piece of work in 4 hours,

145. 'A' wF & i 4 w2 &, B 747 'C 145. ;
ST B e R’ and 'C' can do together this work
A 'C Py 2 o U F HE in 3 hrs and 'A'" and 'C' can dg
Bon SR T F A By g together in 2 hrs. In what time coulq
T FHGT 7

'B' do it alone ?

(1] 10 gu2 2] 12 gue 1] 10 hrs A2T 12 hrs

[3] 8 |
I'8 w2 4] 24 o2 13] 8 hrs [4] 24 hrs

The sides of a triangle are 3 cm,
4 cm and 5 cm, then area of triangle

2] 3 em?’
(3] % cm’
(4] 3 em?

- s‘mmm‘m
il = (10X 8 = Carox
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[c] |46 ]
149, Wi fer A s sEEA @ | 149, Tor which students  promotive
SraggE &9 o B B & 7 programs  are  required in
mathematics teaching method ?
[1] FAAR 8= [1] Weak students
[2] #R_gfa B [2] Mentally retarded students
[3] B2 e 13| Backward students
[4] sfTaT B ' /q’ Intelligent students
150. Frfofem & & @ BT g | 150, Which of the following Maxime of
e FAfaes 1w enaf ® 7 Teaching is based on Gestaly
Psychology ?
(1] s & amma & & ! [1] From known to unknown
2] 4t & ST 3R [2] From concrete to abstract
3] Bt § amrg & ol A3] From particular to general
+' _ e St 4] From whole to part

T F4 % T 5716 (SPACE FOR ROUGH WORK)
A R S, 3
Py i .1'?_.-{:-::'1 48
%




